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75k 9.12 9.12 1305 8.17 12011 2 3 0 | 6| 4
T N-I1=92 1209 1508 1506 11.14 1108 4 1 0 | 19| 2
v 1209 8.15 1208 6.9 15010 3 2 0 2 3
AI-EAY 5.13 6.15 8.12 7.18 10.17 0 0 0 | -39 6
St 17O8 14011 906 1807 14010 0 0 0 | 30 | 1
orash 11.12 g .11 10.15 17010 10.14 1 4 0 | 6|59
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N 1208 13012 2501 8.17 9.11 3 2 0 | 18| 3
R 8.12 7.8 2108 5.16 8.16 1 4 0 | -11] %
VTR 12.13 8O7 3402 9‘19 11.12 2 3 0 | 21| 4
S .25 8.21 2.34 4‘28 4.34 0 : 0 |-123] 6
Bud 1708 1605 1909 2804 13011 g 0 0 | 56 | 1
ARy 1109 1608 12011 3404 11.13 4 1 0 |39 ] 2
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g 1 .22 4 .24 10.17 15O 14 3 0 47 4
TATEYN|SH| 22O i 9 .17 18O 6 26O 5 1 0 46 2
Bogﬂm 2404 1709 21O6 2305 0 0 o 1
J74MARASH 17010 6‘18 6‘21 16013 2 0 -17 3
AR 14. 15| 5 .26 5 .23 13.16 4 0 ~43 D
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Caés%gye 130 9 zoo 6 | 21 7 6 25O 8 0 0 20 1
TATEMSHl 9.13 2004 16O11 18O7 1 0 28 2
You sz 6.20 4.20 8.16 10.12 4 0 ~40 D
TRI57 6.21 11.16 1608 1oO 7 2 0 =9 3
N blossom 8.25 7.18 12010 7.10 3 0 | -29 ) 4
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CLOVER | = |TEAMNyto|<RA v k| Svo— | B & 5 | BxA | IE
CLOVER 1504 2903 4'8 1005 3 1 0 38 2
% 4.15 3002 6.9 1206 2 2 0 20 3
TEAM Nyto [ t— 9 9 -1 0| 4| 0 |-104| 5
TAN Y b P Pt 2 4 | 0o | 0 | 36 | f
EA 5.10 6.12 2503 7.8 1 3 0 10 4
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N'3 6.14 5.20 1] 18 13O1o 1 3 0 ~37 4
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TR 6 .27 5 .25 10.13 4 .29 0 4 0 ~69 O




